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>
> HEH 12.56.cm

(RATZFE 0] 7k )= (EH 9] A9 945F)
= 2x2x3.14 = 12.56( cm)
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5cm
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[> HED 314cm

(ARG h2)— (Ruo] A9 95)
= 5x2x3.14 = 31.4(cm)




13. the 97159 Amolq AAztgel 7hzo] Lol g FatAle.

6cm

b@@

| 2
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(AArR o) 7h2)= (Wre] o] 4F)
= 6x2x3.14 = 37.68( cm)
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[ 2
[> HMEH 68.52cm

o
i
=

W Lo Zolk Wl 529 Holet B
45%x2%x314%x2+6x%x2
= 56.52 + 12 = 68.52 (cm)
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20. H=2 971eY =AU, A= S dole B em YA

7oA.
i %5500111
\
120cm
/
@O 748 cm @ 868 cm
@ 1182cm @®)1496 cm

©® 78 & et
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27150 AAEAH Gel HArztge] hzo] dol Brio]
AFo g&UT

upebA] AEe] E3 9 dol=

(50x 2x3.14) x4 + 120 x 2

= 1256 + 240 = 1496( cm)




